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Answer 1.(b)

Sol. Crane: a large, tall machine used for moving heavy objects by suspending them from
a projecting arm or beam.

Crane: atall, long-legged, long-necked bird, typically with white or grey plumage and often
with tail plumes and patches of bare red skin on the head.

Answer 2. (c¢)
Sol. Lead: organize and direct.
Lead: a soft, heavy, ductile bluish-grey metal.

Answer 3. (d)

Sol. Tear: pull (something) apart or to pieces with force.

Tear: a drop of clear salty liquid secreted from glands in a person's eye when they cry or
when the eye is irritated.

Answer 4. (e)

Sol. Fair: just or appropriate in
the circumstances. Fair: (of hair
or complexion) light; blonde.

Answer 5. (¢)
Sol. Content: in a state of peaceful happiness.
Content: the things that are held or included in something.

Answer 6. (d)
Sol. B-D is grammatically and contextually correct.



Answer 7. (a)
Sol. A-F is grammatically and contextually correct.

Answer 8. (d)
Sol. C-D is grammatically and contextually correct.

Answer 9. (a)

Sol. A-E is grammatically and contextually correct.
'Bring out' means to effectively develop (something,
such as a quality).

Answer 10. (b)
Sol. B-D is grammatically and contextually correct.

Answer 11.(e)
Sol. A-F is grammatically and contextually correct.

Answer 12.(b)
Sol. B-D is grammatically and contextually correct.

Answer 13.(d)

Sol. C-D is grammatically and contextually correct. 'Adhere' means closely follow,
observe, or represent.

Answer 14.(e)
Sol. A-F is grammatically and contextually correct. 'Collate’ means collect and combine
(texts, information, or data).

Answer 15.(b)

Sol. B-D is grammatically and contextually correct. 'Whether' is a conjunction used to
express a doubt or choice between alternatives.

And 'weather' is the state of the atmosphere at a particular place and time as regards
heat, cloudiness, dryness, sunshine, wind, rain, etc.

Answer 16.(d)
Sol. C-D is grammatically and contextually correct. 'Didactic’' means intended to teach,
particularly in having moral instruction as an ulterior motive.

Answer 17.(a)



Sol. B-D is grammatically and contextually correct.

Answer 18.(e)
Sol. A-D and A-E are grammatically and contextually correct. 'Condone' means accept
(behaviour that is considered morally wrong or offensive).

Answer 19.(d)
Sol. B-D is grammatically and contextually correct.

Answer 20.(e)
Sol. A-E is grammatically and contextually correct.

Answer 21.(a)

Sol. "have been attributed to the lack of " is
grammatically and contextually correct. The
subject is plural here and so 'have' will be used.

Answer 22.(b)
Sol. "which results in blindness " is grammatically
and contextually correct.

Answer 23.(c)

Sol. "has exposed the thriving sale of " is
grammatically and contextually correct. Adjective
'thriving' should be used here.

Answer 24.(d)

Sol. "Despite its ambitious targets " is grammatically
and contextually correct. 'Its' is correct and 'it's' is
incorrect. 'It's' means 'Itis’".

Answer 25.(e)
Sol. No Error
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